W@ek 3 Lt o Fanctiong

. fooz X=X | AR
N EY{R
Domam : [’R\{l}( 099] 279
| 0.999 |29 00|
G What happoris whee (.00 [2.00300]
% \/u% cﬂm{‘ol_?_l-ol 3. 030
L) 3.3

0

O bsoyvatio
O b x—= 1 Hon tae Lt (e x<1)
Fxy =3
- /Q-LN\_'RK\ = :_7)
or

LQ‘{:*’L\BY\()\ ,Qr\m"'\‘
D Swhly, a5 k=1 from e 1kt (1201

‘H‘Q"éz st\ P\K» _ 3

x> |7
—  —

right-had L

We can 5&‘6, Tnst ;g\.w\ ‘R’O -_-_-,g
oy



Drituifie olc%w‘M Lnit O?f foncions E-8 difmtion of dant o functigns Q
et oL €R Fx) he o fanction We sy fhat ([ Optional)

| ﬁikmﬁm:L
lim 0y ) | X0

X0 | |
s : ) :.\ & 0\&‘/\ -h/\c
l é;“aﬂc(x\:),_ it o s cfmmurgh to | < VE>0,3570 s !

L b Fooy= L

iz LEa and [X-a] <D
K<a e [foo- L] < €

when x % clott pmah fo @ and{ X >q
N X Fa
Rmk F
o Whither i defmed of o or The Value m{~ § ot
o 18 net f‘“PUﬁBV\t For ﬂ‘w\j(X) oY JZM\ Lix)

X7\ ';(-aa_

%_‘;’“& Fpa= L.
& A 0= Ay = L




S N

XM~¥“\37

X2

When X <2, F(<)= 1= X
= L £y = Jum 1-X = L= (2) :L‘j)

X2 X"

Lo £y 7

%= 3t

Whew ¥ Fxy= IX
S dm Fioy= L R =3

e

15+ A o ¢

i Lo f0) ol Lo Focy @xash
b —H\(Uﬁ' Q,{O.V\OT @gt/\&,i

D Lwdy DNE

—



£ f R\{0} = R g‘h\.‘{mlu&r ;(P;V‘SQC(K) ONE @
HO= Sm I fixy =7 5

A\

1 4\
./

Whin X6 Hom the QQ’P\*, QX) k&[?_& V'm)ﬁka_

 Am fixy DIE
K<)
\K—

G2 Wiat happers vihon % sy T
Ars As X0

Mecm\\\&l ‘F(K) 1S \/f/ﬂ&, C}/\m 'fb 0
Vhen ¥ B o very R’AYSQJ

}M,‘lwee,‘.\ .._1 o 1 Fbﬂ'h/% hambg
D LX) DNE | |
5_7}‘8_ 5 i‘t Sl\nAthl\a" ;(Q::n_mgthj)z - O




Q%_ 'Y’(X)" Q< n

< i@" =
X\ - L {
Vw‘a Shall Po(fﬂﬂyg

Rinbey g X |

ﬂ‘w\ e [O

| N

Very— ﬁ'&‘(&‘b FOS."{.\&
AU b &S X500

Lo

RM\( We S«*?f ANy The Q wR_

X=] B o |werlta) asymphde ‘
A
A TS amd ol

i Lne. Y20 v o {m

K T
O ‘

€ -
g X~
Lom | ]

g very. Smalle
negai Ve bt

\ m*@h X

(\V@xflaf %\m‘aﬁl
Ppo ssitvie hhern

\/ &va Qa«SL
FDSI"‘VL wa bt

Lo

5D, 9]

R\/‘-’/‘f\h, 'Q'&V&Q,
h@&&M A bl

\6\8\’\«\3

o Ty ed gxN




N/

——— e

- N
Whem X | / Hx )= X+t 4 @

4

e Y= Lo x4

>t 4
= 5

+, . X . \P\ww M& JZH‘
0’% &MC} YIVNIY LMA olsa Oﬂﬁ S\ JQ(J\)
Sl Fo residts 4 SCW% |

%BJQ'\N\ J{o@—@c&)} JQW“F(K) X““%\

o T0O _ Ao
o Liwe TX A 1K) W wiODO% 0

XN %[1(\ ,Qm %Lx\ X0

X0

/E\\rv\ {(x\ = X‘M-F(K\

x-yal




(£o LY [ €]
eg QI\N\ ‘—L —_ —\ﬁ_) Q_\W\ -—-"'—'—":—" ( )
Coxwo | 2% XX x> 3= [x=5 |
P /Q\N\ -__(_- _ ‘ o «Q‘\N\ .l*)( . 3-%‘)&1_[7_‘_5:
O aw xlxh) | ™ -5&S 3+ fus
< Lo XAL-2 2 Juon (22X (3155
x=10 N N ' ' 5
2x(¢f2) - (13
= Jum X . S I
X270 2% (x$)) ‘“ﬁng x»£}%xfb)
| 4-x*
= Ao, ‘( (2~ r’—
X0 l(-)(a\—)_) 5= ,Q“m X\LE { X*’U—\
_ | 20 2%
Dom 2(x12) R S e
\ i l'*x T

/)

— .«Qm (3‘[’ XL—P‘5>

o
—-—-"__—____‘-_—-__-___-.-'

,Q;; (2.—& X \

_é+ 2SS

Ll_

. £
Cﬁ'

S
B
.

~
—



€ agan

£ Y 0% o Seqmimu
¢
Lt 4 v @2 Lim Q-L iy—\)

NS

2,225, 237, 2441, €

F(And‘dnr\ V@ﬂm ’Q i O(F c 'ﬁlhd‘ru‘v\

— N
&

Rk (1% Jg\x s Moeassy for X0

c
dm {1
fan i+ 5)
,Q 1 X
XN l+ \
= Q\\m A '3”"6
=200 (l+ -’_i |
‘ 4
=~ 4 %
()
El
| £
X
. |
= e






Radiam
- 00 und %w mﬂaswfvx& anﬁﬁu

unr CE({.QJ?J (VBJ\M = ']_\

' < O\F(-Qﬁgﬂ‘\
/ \ = X unt
p.8 rac}\

3o = Sl ged = 270 Al
[§¢ = hlf o= T rad
4 = ket QBJZL: 1.; rad\

L{%i_’_(o = X rad

u = Y. rad

LMP\N'{%“ G :
We use Y’c\Cl*LW\, et desfe&, N CB!CULZUA

|

- ,Q{\N\ —SM—-:

X->0 b4

|

Rak (D cnX = S“’\LK rad.)

O X\f"\ SinX = =0,

X2 ¢

Qdmx = )

Thm = NUG aFPYoach 0 of siay rele.

N K
Lﬁ,——f!hx

__1;-_ /\

2% /s_\ =1
(

") w3k {\'-‘1 T
| Qe SQU’P.Q_/ ol X=0

. S\V\E\K!
88 Jon zv\é%x) = B AX

N X} w0 Sn\('S?Q 3X
(of o= 4X 3K
As x>0, \/—?o = g% ___."Z?(’() 4_ (4
L sx&hh M ) e R
70 4K - zr-?o —%‘ 3&(‘: : E\K 3 lé(.

2 |



ﬂc\m E_t\_).s..:_ l
X720

PE o

[ a
Cor 0<x <3

Ccms?(le/r the pupit ((Y(,QQ/

AVEOL cﬁ— sector QAR

= A ' -
ox i Aveq o-F wthsb car&a,
20 &

Aren ok AOAB < Area o secor OAR £ Arer of AOAC @

Leny <« X L
S e < ltanx " I
2
X — X 1
_ < £— < —/—
Sh X [ ~ S'b\)( C0.§X b .
AVEU\: '-D[;qbgm%
Jom [ = fwm = 1
xX-70 X1 0" (osX

Sovduidn thestom = Am X = |
e m\x

dn Ql“’( - ...._(--:_
5_.,04’—")'(""*‘ | l @

¥ T s N T T RS
Nofe that 225 7 an ewen fundiion. | 12, £ = F(xY

b y=-%. Tha x>0 & y—>ot

—
&

,Q% S g SME9D L fw — S M



“3

[

M

I

Yo

X=ZQ

L

0

X7

Lo

XSO

Lo

Do )

x>0

| — (oS

| —cos X

| = (X

£ s X

| — 5K
x (1 # cosX)

S \\/\)'K

S

X

X ([ (eg}g\

S WX

(£ Cos X

/{c’w\ Sth¥

& X'_?\‘)

Lon (H (05;5

%20
O

L



